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201 fEt2E | 16,000 15,500 500
11,200
4,800

MW

01 At2 2t 2l Hl 16,000 15,500 500
OSLA HSd atzel 9 L HMAE =
A2 e| 16,000
11,200

-

H
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Kio
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N2, 474

N2,474

N2, 474

24,665

24,665

24,665

H3r
Wikd
RIS

4,235

4,235

4,235

84,583

83,983

83,983

600

600

10,000

9,400

9,400

600

600

Off &t 24

i

7,800
1,761
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1,761
1,761
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EX: S22
HHM: ME23IKFAS 2l 2=
S N EEREET (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 300
- 300
NE2S KA B=FH| 52,000 0 52,000
< 26,000
= 26,000
402 SI2FXHE0| & 52,000 0 52,000
< 26,000
= 26,000
01 Q228 X 52,000 0 52,000
OS2AF A obMAlA AX| 52,000
o= 26,000
2 26,000
Sslt=gs s8N 5,028,856 3,968,692 1,060, 164
= 2,206,000
= 579,500
= 2,243,356
SFER3Io d=zs4 4,047,899 3,803,116 244 783
= 2,206,000
& 579,500
= 1,262,399
NE230= SHAF XS 145,437 254,537 A 109, 100
201 2et2 Y| 7,437 11,537 £ 4,100
01 AP 22| d| 900 0 900
OSHsAFAUS AHM A
300,000 x3H 900
02 B232%H| 5,537 5,537 0
O22322 % HA 2,124
— &y 29 100,000& ~12& 1,200
S22 2oHHEE =42
77,000 x12& 924
O = Hi 1,595
— & im) 1,384 x0.8¢ *8Al2t*x180L 1,595
OA & Z&Hl 8 XYl 1,818
— sz E=A 5,000 x165m 825
— LA M LG 3,000 331 m* 993
03 A2 | 1,000 6,000 A5,000
O4E ZotdAN EdioteE 5 M=
50,000 *200H & 1,000
202 044 1,800 1,800 0
01 2L Y| 1,800 1,800 0
Ogd=2oH & dLoE0==sH &0t
60,000 *3% 5! 900
O&Al, 24 & Sstis=siAl =&
60,000 *3% x5! 900
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Hl w

A 101,000

2,000

A 103,000

1,000

1,000
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98,500

H3r
Wikd
RIS

2,000
2,000

7,000
7,000

228,200

98,200

130,000

10,000

10,000

10,000

3,000

1,500

1,500

Off &t 24

2,000
2,000
2,000

7,000
7,000
7,000
127,200

100,200
10,000
6,000
33,000
19,200
12,000
20,000
27,000
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2N
X ZH -
L= B

el

0% [0 MO

Stk
stl=gs s
E=23e €=1]4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 8,000 1,500 6,500
< 2,000
e 6,000
06 WEII20UHE2ES 8,000 1,500 6,500
ORM40s Hd&e=0==H IR (Ha4) 8,000
= 2,000
s 6,000
S0 33,462 135,579 A102,117
307 21201 A 33,462 135,579 A102,117
02 QB AEXRS 33,462 0 33,462
O=zsol8ad At XI& 33,462
ZHotS=ddAE 3,650,000 3,300,000 350,000
= 2,200,000
= 550,000
s 900,000
402 QI2H X201 M 3,650,000 3,300,000 350,000
= 2,200,000
= 550,000
s 900,000
01 RIZEAr=2E X 3,650,000 3,300,000 350,000
O=HMitsEdd A 3,650,000
= 2,200,000
< 550,000
s 900,000
d= FAFAWSE 100,000 0 100,000
307 glz2tol & 100,000 0 100,000
04 RQIZIHAIE RS 100,000 0 100,000
OX= 2AFAWS 100,000
CH22H 244,767 165,576 79,191
SEAZAIL 2l KR 93,057 65,197 27,860
101 14l 1,383 1,383 0
4 D12t ZE2EXNEES 1,383 1,383 0
OEM2=H E=HHES
42,780 2 x4 x4 3] 1,369
OdMEE= 1,369,000& 1% 14
201 Let24d] 59,174 58,814 360
01 At 22l 5,592 5,232 360
Oget=gH| 3,576
—SN22E MYIISE, StEXNFY
50,000 12& 600
—&d=J|2te] ABZ 2 30,0003 *3 122 1,080
—H&s gatzts 7Y 20,000 *30£ 600
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EX: S22
HM. 2oldzs2s X
oelr CABeY (B9 ®R)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
“CHE2g BN P
6,000& 1001~ 12& 720
—CHEEY 4B HEY 2Y
8,000 *6IH x12& 576
==l 2,016
— 02t & M2 012X 22l
7,000 *1H*242 x12& 2,016
02 352494l 53,582 53,582 0
03322 ¢ NA 25,438
—&IIANES 1,200,000 »12& 14,400
— MO AMNES 240,000& x12& 2,880
—ANE2 SFNEREES 70,000& *23] 140
—YWSI| JIAAMND HHaAMABES
110, 000& x 13 110
—AOI=STVAIE & 9,000 x12& 108
— MY T2 834 100, 000& x13] 100
— S22 A 2E 3| 200,000& *13] 200
— S22 A2ES 300,000& *13] 300
— & otA A AHI 100,000& x12& 1,200
— I A OFA 24 ARH] 100, 000& *13] 100
-2k AHE 800,000& *13] 800
— AU ASSZ 1,500,000& *13] 1,500
—CXNENSAHYUYAIZES 300,000& x12& 3,600
O & Hl 22,144
— SN2 AL 1,384 %804 *200L 22,144
OEME HMAEH KXY 150,000, 000& *4% 6,000
401 IS HI L 2T 32,500 5,000 27,500
01 Al& H| 32,500 5,000 27,500
OEAMZ HS| Al 23 At 2,500
OZE =2 Al B 5,000
O M2 Z0H 12 A4l 25,000
CAN22 61,100 61,100 0
201 Yer2 | 1,100 1,100 0
01 At 22l bl 1,100 1,100 0
Ogst=2H| 1,100
—CANZAZUEEIU(TAESHOIZLSE) 1,000
- NEaY c2el 1,000& 1004 100
405 KHo&HFE S HI 60,000 60,000 0
02 TAFH| 60,000 60,000 0
OZEe2 & 10,000& *3,000 30,000
Oz2 & Al =g
10, 000& *500& =4l A~ 20,000
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EX: S22
HM. 2oldzs2s X
oelr CABeY (B9 ®R)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
OAlE 24 DVD+7 ¢ 20,000& *2504 5,000
A2 C M2 VDR Y 20,000& *2504 5,000
ANz OlS X 22l 61,069 10,854 50,215
201 Bt A | 35,474 10,374 25,100
01 AtR 22l bl 29,474 4,374 25,100
Oget=gH| 29,474
—SAZOSAHRASSNE 864
ESION| 12,000& x4 x12& 576
RPN 8,000& x32*12& 288
~ BN PSEHIITX P
12,000& *10&5+12& 1,440
—HESAHMLAY ME 7 100,000& 5 500
~USSHRA B2 FAH
55,000& 204 A~ 110
—HESMHMLAY ZAIZ 50,000& x4 Al 2t x5 1,000
—SAIFHY HWES HMH 700& x800H 560
— &OHOl BOIAA OLHE MIZ 5,000,000 5,000
— AW JfeEE ZHotmz e ol 20,000
03 SHALS H I 6,000 6,000 0
O=SANSBna2dy 2,000,000 33| 6,000
202 044l 480 480 0
01 2LHOHI 480 480 0
ON=2E 203 &It 60,0003 x2H x4 480
207 A O Y| 24,000 0 24,000
02 & A Y| 24,000 0 24,000
OEM& TAZeE208 4401 & 8,000
OEMZ SHOIX JHH 16,000
405 XtabF SHI 1,115 0 1,115
01 XML 2 FF S| 1,115 0 1,115
OO H=E ¢ 1,115
—2d0 2 250,000 ~1CH 250
—E23&)|] 2 350, 000& *2H 700
-2 2¢ 55,000& *3H 165
22 =48 ¢ X 29,541 28,425 1,116
01 e121d| 5,601 5,601 0
04 JIZtHIZ22XNSE S 5,601 5,601 0
Os5Y 22X 40,4003 x 13«8 x12& 3,879
OX2TA22Y 40,4003 x1H »30 1,212
od4liB2g = 5,091,000& *10% 510
201 LEr2 Y| 23,220 22,824 396
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Zst2-Z
Fadz=2s 4N
SHE2Y (B9 ®R)
= - 4 14
S - FE - EA(SH) - NRAY - BES e HlnE2
01 At 22l 5,940 396
OgEer2dH| 5,940
—ANREE P (EZS MYIJISES)
100, 000 & *62| *30H A 1,800
—st&4a 22 ¥ EX 7Y
100, 000& *62| *30H A 1,800
—dag ®nee 19
10,0003 x3S *12& *301 & 1,080
— &0l 2e 15,0003 » 128 301 & 540
—Hoagzs 21,0003 « 12«24 & 504
~MeTHBRY YEH PY
6,000% *12& 30 & 216
02 =24l 17,280 0
O332= % HAl 17,280
—dIIMNEBE 250,000 » 128 «301 & 9,000
—=EAEZ 30,0003 x 128 *304 & 1,080
—HYAIE R 100,000 » 128 «304 A& 3,600
— RUBHIEY +42
100, 000& » 128 «304 A& 3,600
202 044l 720 720
01 = LH o4 1l 720 720
o222 2EXE EH
20,0003 *1H +30 & +12& 720
Fod=z2 A 150,000 150,000
2022 HE 150,000 150,000
401 Al HIZ 201 Y] 150,000 150,000
01 A& HI 150,000 150,000
O=0aa A (SIHYS, 2SAHUHALZE S) 150,000
o=z 249 586,190 586, 190
22 22 275,069 275,069
101 124 dl 14,519 14,519
04 JI2ZtHZ22HEE =+ 14,519 14,519
O& Aol 42,7803 x3& 102 x10& 12,834
Ollz=zla =8 M=xY
42,7803 «32 x4 x3 2] 1,541
OdMEE= 14,375,000& * 1% 144
201 ¢et24] 239,300 239,300
01 At 2t 2l 6,890 6,890
O3=xJ|ldEs 30,000 +7CH 9 1,890
OLARETY(ELAEE &) 5,000
02 =224l 232,410 232,410
OXIRS 16,700,000 «10& 167,000
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2AMd: 2322
M 2ooiz=2s SN2
& 2oz 2 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odot=ER= 2,891,000& +10& 28,910
OagAlIgetd2te] =8 300,000& 10& 3,000
O&J|erE e =2 5,000, 000& =13 5,000
Os&Jl A2l 150,000& »4CH 10& 6,000
O2st0li=sl2ersl A3l 2,500,000 «12] 2,500
Oulz3 & PUHAMAL =22
10,000,000& =13l 10,000
OAl& & Hl s X bl 10,000
202 O4dl 4,250 4,250
01 = LHA YI 4,250 4,250
ORHESL(XY, 88 J1H) Iz BS
350,000 x3H *13] 1,050
OHM=0tEDt2 &N 300,000 4% 13| 1,200
O=0s 23l 319 F4A 60,0008 123 120
OZ a2 oratdiol &4 200,0003 x2H »23] 800
OS082 SEAS W0
60,0003 x6H 3 1,080
206 M= Hl 17,000 0 17,000
01 24 17,000 0 17,000
OB ZANM(ERA H7 S) 9,500
O3¢& SEXM(0t0I2 AoE 8) 5,000
O3¢8 2UIIAHXRM(2IOIE A=K S) 2,500
Se0l= & Ar2el 311,121 0 311,121
101 @124 dl 6,121 0 6,121
4 JI12ZHHZE2XREES 6,121 0 6,121
O3d o 40,4003 x5H »32| »10& 6,060
OdMMEE= 6,060,000& 1% 61
201 L2l 305,000 0 305,000
01 At 22l 5,000 0 5,000
O34 g2 ¢ &1 5,000
03 A2 S HI 300,000 0 300,000
Oll=3l 2t 2 AL 150,000
Odesa FISH(ERE) 150,000
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